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MATRIX Class-X
MATRIX P Class-X|

This section contains 10 Multiple Choice Questions (Q : 01 to Q : 10). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

1. For any wire if X =8 Q & Y = 4 Qm. 1. P W IRS R X=8Q aanY=4
If length of wire is halved then new value of Qm. I IR F TR DI M TR &A1 I
X &Y will be AXAY & T A BN |
(A) X=8Q,Y=40m (A) X=8Q,Y=40m
(B) X=4Q,Y=40m (B) X=4Q,Y=40m
(C) X=4Q,Y=20m (C) X=4Q,Y=20Qm
(D) X=8Q,Y=8Qm (D) X=8Q,Y=8Qm

2. Which of the following is a source of direct 2. =1 5 | 39 A1 i gRT &1 &4 ¢ |
current ?
(A) Solarcell i (A) IR ¥«
(B) Motor : (B) Hrex
(C) AC Generator § (C) vmEd! S+
(D) Transformer g (D) TE®FR

3. A battery of 12 V is conected in series with @ 3. 12de & Th e 0.2 Q, 0.3 Q, 0.4 Q, 0.5
resisters 0f 0.2 Q,0.3 Q, 0.4 Q. 0.5 Q and § Q T 12 Q & URRET & |1 Srofiehd 9 I 2 |
12 ©Q. How much current would flow through 0.3 Q & UCR™ | vaTed ORI &I A9 8T |
the 0.3 Q resistor ?
(A) 0.895A (A) 0.895A
B) 1.11A B) L11A
(C) 0.5A (C) 05A
(D) None of these (D) ST 4 318 T2

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Unit of electric power may also be expressed
as:

(A) Volt-Ampere

(B) Killowatt-hour

(C) Wattsecond

(D) Joule second

Focal length of plane mirroris :
(A) Infinity

(B) Zero

(C) Negative

(D) None of'these

An image of an object produced on a screen
which is about 36 cm in size using a convex
lens. The image produced is about 3 times
the size of the object what is the size of
object.

(A) 12cm

(B) 33cm

(C) 39cm

(D) 108 cm

*xxxxx B10151023 *#***

el wfdd & w=% &1 e fBan S Al 5—

(A) e YR
(B) fell die — wver
(C) dfe dae

(D) St A

FATS YU &) IS I BNl 2 |
(A) =

B) T3

(C) oD

(D) $9° & BIE &

IS o BT TR TR 36 cm SaTs BT e
od TR 991 & | UffS B Sarg axg B Sarg
@ 3 AR | O B SATS F;E ?

(A) 12cm
(B) 33cm
(C) 39cm
(D) 108 cm

Space for rough work
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Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 11
P. Theunidirectional 1. AC

Column -1

current flow in
the circuit

Q. The current which 2. DC
changes its direction
atregular intervals

R. Device that makes 3. Electric motor

use of'the fact that
magnetismin
presence of electricity
produces motion
Code :
P QO R
A2 3 1
B3 2 1
<3 1 2
2 1 3

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Focal length of convex lens is always
positive.

(i) Focal length of convex lens is always
negative.

(iii) Focal length of convex lens either be

positive or negative.

*xxxxx B10151023 *#***

fau v Bifd¥—I 3R Bied—I1 &1 S B

PN UG fdbed gy IR <IfoTu—

Column -1 Column - 11

P. uRue # v fem 1. ymafd gmn
A yarEd grT|
Q.78 g1 o fFafya 2. i ot
JTTRTA R (T
fo=m gt B |
R. SUHBRIT ST 59
AT B ITART
PRl & b g
& faga arT &1
IuRRerfd § 17 Sea=
BT B |
Code :
P 0
(A) 2 3
2
1
1

3. g wieR

R
1
(B) 3 1
©) 3 2
(D) 2 3
feq U wa—sra bl § 0 SR fdded
EEEIRIG
() ST o B BB T Fd TS Bl & |
(i) ST o9 BT BIHA G Aqd RUTHD
gl 8
(iii) ITA oI BT BIHF I gATHD AT
FOMHS QI 81 ADHA & |

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Code : Code :

() () (iii) () (i) (iii)
(AT F F (A)T F F
BT T T BT T T
CF F T CF F T
O)yF T F D)yF T F

Paragraph for Questions 09 & 10

Andre Marie Ampere suggested that a
magnet must exert an equal and opposite
force on a current carrying conductor, which
was experimentally found to be true. But we
know that current is due to charges in
motion. Thus, it is clear that a charge moving
in a magnetic field experience a force,
except when it is moving in a direction
parallel to it. If the direction of motion is
perpendicular to the direction of magnetic
field, the magnitude of force experienced
depends on the charge, velocity (v), strength
of magnetic field(B), and sine of the angle
between v and B. Direction of magnetic force

is given by Fleming's left hand rule.

*xxxxx B10151023 *#***

Paragraph for Questions 09 & 10

Uy W TR 9 geE fear 6 ue gad @
YRIATE TTeids TR R A I fauid fem # g
ST =R | ST TARTIH U | e Ul 3727 o |
AP 89 94 & b faga amT aralt &1 i &
HROT EA 2 | 399 I8 W Bl & 6 g &
H TR STTART U G Wd Bl ¢ | oifh o
T DT &5 S AR 81 G4 gl BT Aq9d 78l
B 7 | e I 5 feen g a3 91 faen &
A B I GrIdId gl BT URHATIT 7T, AT &
9T (V), EDII &3 @ dgar B) drva B @
Y & AT DIV W R BRAT € | gAY a9 B
oo T & a1d &1 & o gRr <) ot 2

Space for rough work
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Magnetic field does not apply any force.

(A) Onstatic charge

(B) Onamagnet

(C) Onacharge partical moving perpendicular
to magnetic field

(D) Oniron bar

An alpha particle enters parallel to magnetic field

then magnetic force acting on it.

(A) Maximum

(B) Zero

(C) Insufficient data
(D) None of these

*xxxxx B10151023 *#***

10.

FIDBIY & DI g1 T8 Nl |

(A) TP ReR amaw W

(B) TP gHd W

(C) U fIggd e &R S gaobl &3 & TTad
TRy e B |

(D) g B8 W

T Al BY EDII & H gabrg & b

HHIR T HR R8T & Al $qH 0 dTell Faord

g1 BT |

(A) 3TfEreped

B) T=

(C) St e

(D) =71 A BT5

Space for rough work
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PART II : CHEMISTRY

This section contains 10 Multiple Choice Questions (Q : 11 to Q : 20). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

11.

12.

13.

14.

Which of the following is decomposition
reaction ?

(A) ZnCO,— ZnO + CO,

(B) BaCl, + Na,SO,——BaSO,+2NaCl
(C) Zn+2HCl — ZnCl, +H,

(D) 3MnO, +4Al — 3Mn +2AL0,

Ferrous sulphate on heating produces-
(A) Ferricoxide
(B) Ferrous oxide

(C) Oxygen
(D) None of'these

A redox reaction is one in which-

(A) Both the substances are reduced.

(B) Both the substances are oxidised.

(C) Anacidisneutralised by the base.

(D) One substance is oxidized while the other

isreduced.

A student takes zinc granules in a test tube and
adds dilute hydrochloric acid to it. He would
observe that the colour of the zinc granules
changes to -

(A) White

(B) Black

(C) Brown

(D) Yellow

*xxxxx B10151023 *#***

11.

12.

13.

14.

o & I B srfAfshar sroees srf¥fshar g ?

(A) ZnCO,— ZnO + CO,

(B) BaCl, + Na,SO,——BaSO,+2NaCl
(C) Zn+2HCl — ZnCl, +H,

(D) 3MnO, +4Al — 3Mn + 2AL0,

T P W GG Febe T o
(A) BR® sffTss

(B) Bvw sifRigs

(C) iffrgor

(D) ST ¥ B T

YT AT g8 afifhar & forasi—

(A) S gt Smafid B |

(B) a1 ugre omaRiIgd BRI |

(C) U& 3, R & gRIT ISAIHd 81T |

(D) & yaTef JMTRiTpd BT Sidih GART
oAt g |

T BT 1 fSid BIOBIe aTell RETall 3§ ]
HCI farn, 391 <@ {6 7@ Hiorebrail o1 3
uRRafdd 81 T, a8 9 o

(A) \oe
(B) refm
©)
(D) dren

Space for rough work
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16.

17.
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Bleaching powder gives smell of chlorine
because it-

(A) Isunstable.

(B) Gives chlorine on exposure to atmosphere.
(C) Isamixture of chlorine and slaked lime.

(D) Contains excess of chlorine.

An aqueous solution withpH=01is:

(A) Acidic

(B) Alkaline
(C) Neutral
(D) Amphoteric

Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 11
1. KOH
2. H,S0O,
3. HNO,

Column -1

P. Monobasic acid
Q. Diabasic acid

R. Monoacidic base
Code :

P Q R
A1 2 3
B3 2 1
<2 1 3
Ddy2 3 1

*xxxxx B10151023 *#***

15.

16.

17.

foRoi o, T ) T S 8, -

(A) 98 R B |

(B) aigAvSH H JAMAATHI BIhR FAR Sl © |
(C) TR @ g gY g1 BT fH8701 811 B |
(D) FARN B Afd AT B B |

STefig faers R pH =0 =, &1 "
arm—

(A) 3

(B) &~

(C) Se=

(D) SWeT

fav v Biem—1 3R Siera—11 &1 SR ferm
IR WY fAded grdr IR dIRTg—

Column -1 Column - 1T
P. Thal &R v 1. KOH

Q. fgaR®T 317t 2. H,SO,
R.Tda 3rflm &R 3. HNO,
Code :

P Q R
A1 2 3
B3 2 1
<2 1 3
D)2 3 1

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




18.

19.

MATRIX

OLYMP'AD

Which of the following statement/s is/are 18. U U G-I doAl § ¥ Sfa fdwey

True(T) or False(F) ? EAT+TI—

(i) Acids are bitter and change red litmus to (i) 3T Hsd B 8, TAT AT folcAd IF &l
blue. el # uRafda &= <7 2|

(i) Acids are sour and change red litmus to (i) 3re Wcc B § a1 oa folcass uo &l
blue. el 7 gRafda &= < 21

(iii) Acids are sour and change blue litmus to (iii) 3reT WeT B & AT At foreas 95 &l
red. et # gRafda &= <d 2 |

Code : Code :
() (ii) (iii) () (i) (iii)

AT F F AT F F

BT T T BT T T

C©F F T ©F F T

M)F T F x M)F T F

Paragraph for Questions 19 & 20 i Paragraph for Questions 19 & 20

When a single substance is formed by the & <19 fHdl ugred @1 A sre-evie yeef @

reaction of more than one substance, the E’ FAGH A B © A1 S AMHAT I FAH

reaction is known as combination reaction. In g JAfAfhar e 2 | {o ifufhaeh 4, sfufthar &

few reaction large amount of heatis evolved ¥ AR S B TP Iea A FhiRid B g,

which makes the reaction mixture warm, these * g arfafshar fAsror 9 81 91aT B, 39 PR &

reactions are known as exothermic reactions. fafran &1 s *ifafhar wed B

Combustion is an reaction. 19. <& U UBR DI AMAHAT 8-

(A) Exothermic (A) SeATETdY

(B) Endothermic (B) SRS

(C) Both(A)and (B) (€) (A) d (B) i

(D) None of these (D) ST 9 ®I3 T2

Space for rough work
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20.  Which of the following are combination 20.
reactions ?
(i) 2KCIO, et y 2KCI+ 30,
(i) MgO +H,0—— Mg(OH),
(i) 4Al+30,— 2AL0,
(iv) Zn+FeSO,— ZnSO, +Fe
(A) (i)and (iii)
(B) (i) and (iv)
(C) (ii)and (iv)
(D) (i) and (iii)

*xxxxx B10151023 *#***

1 9 | Ao srfAfhard 8-

(i) 2KCIO, et y 2KCI+ 30,
(i) MgO + H,0—— Mg(OH),
(i) 4Al+30,— 2AL0,

(iv) Zn+FeSO,— ZnSO, +Fe
(A) ()R (i)

(B) (i) R (iv)

(C) (ii) 3R (iv)

(D) (i) MR (i)

Space for rough work
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PART III : BIOLOGY

This section contains 10 Multiple Choice Questions (Q : 21 to Q : 30). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

21.

22.

23.

24,

When a sperm is deposited into the vagina
which route does it travel ?

(A) Vagina— Oviduct — Uterus — Cervix
(B) Vagina— Ovary — Uterus — Oviduct
(C) Vagina— Cervix — Uterus — Oviduct
(D) Vagina— Uterus — Cervix — Oviduct

Which is the most common method of
reproduction in Bacteria ?

(A) Budding

(B) Spore formation

(C) Binary fission

(D) Multiple fission

Blood pressure is measured by an instrument
called :

(A) Barometer

(B) Sphygmomanometer

(C) Photometer

(D) Monometer

The process in which loss of water takes place
in the form of water vapour through stomata is
called .

(A) Transportation

(B) Transpiration

(C) Gutation

(D) Translocation

*xxxxx B10151023 *#***

21.

22,

23.

24.

W9 A F Yep1o] BIS A B, A Y1 fw 7nt
TR T B B |

(A) T — IvsaTRAT — TR — drar

B) A — TSR — THIRT — oSl
(C) Iy — AT — TR — vsarta=

(D) T — TR — AT — vsarta=

SHATall § g & Fa¥d | fafd St
& ?

(A) Fher

(B) @] fHEToT

(C) fe—fagsa

D) Tg-fare

I BT fhd SUBROT H JUT AT B—

(A) SRR
(Y IRESHELIN
(C) Aftard
(D) HAHeR

Th U ufshar 599 o @ B9 O a9 &
Y H T gRT Bl 8—

(A) uRaga
B) IS
(C) favg grmaw

(D) AR

Space for rough work
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26.

27.
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Which one of the following is correct option ? 25. f=falRed 9 9 s Aweg 981 € ?
(A) Salivary glands-Saliva, Liver-Pancreatic juice (A) R U — TR, IHd — AR 7H
(B) Liver-Pancreatic juice, Pancreas-Bile juice (B) IHd — el 79, e — Uk |
(C) Stomach - HCI, Salivary glands - saliva (C) mrer — HCL, &R Uf®1 — &R
(D) None ofthe above (D) STH A B3 7T
Identify P, Q and R in the given diagram. 26. == # P,Q, R & yganri—
X
¥
¥
™
(A) P-Stigma, Q-Pollentube, R-Egg cell a (A) P-afddm, Q-uRRT Afetdl, R-3108 HIfRTdT
-
(B) P-Style, Q-Pollentube, R-Egg cell 0 (B) P-aft®r, Q-u=rT Aferdr, R-3108 HIfra
(C) P-Stigma, Q-Style, R-Egg cell g (C) P-affebTar, Q-uRTT fereh1, R-310S BIRIHT
(D) P-Stigma, Q-Style, R-Ovary : (D) P-afidni, Q-WRTT Aferd!, R-3veRe
X
*
Match Column — I with Column — IT and 27.

select the correct answer using the codes given

below.

Column -1 Column - 1T

P. Scrotum 1. Ovary

Q. Ovule 2. Male Reproductive
system

R. Spore 3. Rhizopus

fau v dferm—1 3R dfem—11 &1 3Rid e

IR Y fAded Frdr IR dIRTg—
Column -1 Column - 11
P. QU1 By 1. USRI
Q.95 2. R S A
R. 1577 3. JESTE

Space for rough work
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Code: Code:
P Q R P Q R
A 2 1 3 A 2 1 3
B 3 1 2 B 3 1 2
<o 3 2 1 <© 3 2 1
D)2 3 1 D2 3 1

Which of the following statement/s is/are

True(T) or False(F) ?

(i) HCI activates pepsinogen into active
pepsin.

(ii) Salivacontains an enzyme salivary amylase

(iii) Reduction of carbondioxide to

carbohydrates
Code:

(@) (i) (i)
A T F F
B T T T
O F F T
)y F T F

Paragraph for Questions 29 & 30

The tiny pores present on the epidermal
surface of the leaves are called 'A'. The open-
ing and closing of the pore is a function of the
'B' cells. The 'B' cells swell when water flows
into them causing the pore to open. Similarly
the pore closes if the 'B' cells shrink.

*xxxxx B10151023 *#***

28.

feq v wa—sra el § 0 SR fdwed

REEIIEI

() HCI ufta=or &1 |fba uftas 1 aRafda
PAT T |

(i) IR H IR YA BT B |

(iii) PIITSISINIASS BT JUTIT HIEESHCH

H g g
Code:

() (i) (i)
A T F F
B T T T
O F F T
)y F T F

Paragraph for Questions 29 & 30

qul B S R ged fos a9 © o A
FEd 2| 39 GeF ol & G g g5 e H 'B'
HIRTBN Fers el T | o 'B' diframeii #
el LN BT § 99 A Fo (Fif) I B,
fOTRY v el il © | S YR Sfd 'B' BIfRep1y
s Il & 99 fos 9 81 oI |

Space for rough work
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A ‘

In given diagram, what is 'B' ?
(A) Chloroplast

(B) Guard cell

(C) Stomatal pore

(D) Thin outer wall

Ingivendiagram,'A'is main structure that helpin ?

(A) Exchange of gases and transpiration

(B) Exchange of gases and photosynthesis

(C) Absorption of light energy and
photosynthesis

(D) Exchange of gases and absorption of light

energy

*xxxxx B10151023 *#***

29.

30.

£

fe ) forr § B ® § 2
(A) FTARTERE

(B) &R BRI

(C) =i g

(D) uden ared fafea

QT o #' A' e TR B | Sl RS § 2
(A) N B AU IR Ao H
(B) N1 B 3T USH—AR YPHIRIRITATOT
(C) TSI SHofl BT FLNNT BT AR
D TIRAZATT
(D) NI & ACH-UTH 3R THI Holl B
TN FHRAT
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MATRIX

PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 31 to Q : 60). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

31.

32.

33.

Ifthe HCF 0of 210 and 55 is expressible in the
form 210 x 5+ 55y. Then find y :

(A) 5

B) -15

(©) 14

D) -19

If the sum of'the square of zeros of the qurdratic
polynomial for = x2— 8x + k is 40. Find the
value ofk :

A) 11

B) 12

(©) 10

D) 9

Six bells commence tolling together and toll at
internvals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes how many times they
toll together ?

(A) 4

B) 10

(©) 15

(D) 16

*xxxxx B10151023 *#***

31.

32.

33.

afg 2103R 55 & 999 BT 210X 5+ 55y B
w0 ¥ ] a1 1§ A y BT A S BRI—
(A) 5

B) -15

(C) 14

D) -19

Ife fgerd ague x> 8x + k & TATDI &
BT AT 40 B a1 k &1 719 A HRI—

A 11
B) 12
(C) 10
D) 9

©: "focdl T A o1 Yoo PRl & 3R A
2,4,6,8, 10 3R 12 ¥dvs] & IF<RIA W
goTll I&dl 8, 1 30 e # fabe IR Ueb e
Fortt ?
(A) 4
B) 10
©) 15
(D) 16

Space for rough work
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3S.

36.

37.
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If oo and B are zeros of the polynomial 34. IR o 3R B 98UE fs) =38~ 6s+4, D TAD
f(s) = 3s*— 6s + 4, then find the value of o B 1 1
g, T —+—+2|—+— [+3ap & 74 @
o B o1t +30p - proa la
B « oa B ) BT |
A) 8 A) 8
®B) o6 B) 6
©) 2 ©) 2
O 0 D) 0
The sum of first 30 terms of an A.P. whose 35. =R 2ol & geM 30 UGT &1 ARThA S0 AR
second term is to 2 and seventh term is 22 is : IS 2o &1 gART U 2 A1 el ug 22 g
(A) 1120 (B) 1480 (A) 1120 (B) 1480
(C) 1680 D) 1520 (C) 1680 D) 1520
if <% —m and C?SOL =n, then (m=n?) % 36. 3R O o m iR C?sa =n g, a9 (m>n?)
cosf sinf X cosf sinf3
cos? B is: g cos? B &1 A BRT—
(A) n § (A) n
®) 2 B)
©€) w ? C)
(D) None of these : (D) T | DI &I
1 1 1 1
If an =H—Ethen al + a2 F o, aloo 37. 'qﬁ an =H—E GE a1—|—a2—|— '''''''''''''' a]()o
equals : BT 74 B
99
@ 1o 9
100 ) Too
100
B) — 100
101 B) 101
© 1 ©) 1
(D) None of these D) 7 F P T

Space for rough work
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40.

41.
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If x = 1 is a common root of the equations 38. 3afe x =1 99®0N ax?+ ax+3 = 0 3R
ax?+ ax+3 =0 and x>+ x + b= 0, then 'ab' is X2+ x+b=0, B UH SIS 7 T, 79 ab H
equalto: A BIT—
A) 3 A) 3
B) 2.5 B) 25
© 5 © 5
(D) None (D) None
In AABC, if ZA=x°, /B=3xand ZC=y° 39. AABC ¥, afs ZA = x°, ZB = 3x° den
and 3y°—5x°=30then ZBis: ZC =y°3IR 3y° —5x° =30 9 £B 8FM:
A) 60° A) 60°
(B) 45° (B) 45°
(©) 30° (©) 30°
D) 90° b D) 90°
¥
If xis a positive integer such that the distance i 40. IR x TP TD YUIP $9 UBR © b fagafi
between points p (x,2) and Q (3,-6)is 10 unit, & (x,2) 3R Q(3,~6)F @ g 10 3PS 7 Al
then x s E’ X BT
@) 3 = @) 3
®B) 9 § ®B) 9
© -9 h <© -9
D) -3 D) -3
Ifx =acos@ and y=bsin@ then the value of 41. afd x=acos@ 3R y=bsing B, 9 b>x>+ay>

b’x*+a%y’is :
(A) a+b
(B) a2b2

(C) a-b
(D) ab

&1 A BT
(A) a+b
B) a’v?
(C) a-b
D) ab

Space for rough work
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43.

44.

45.
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The perimeter of a triangle with coordinates 42. Bys s B (0, 4), (0, 0) 3R (3,0) 3,
(0,4),(0,0)and (3,0)is : SHBT GRATT BT
(A) 5 (A) 5
B) 4 B) 4
©) 7++5 ©) 7++5
D) 12 D) 12
If the length of the shadow of a tower is 43. IR fH TR o1 BN &1 w18, IAD! S dTs
/3 times that of its height, then the angle of @ f3 T T A GI BT ST IV B
elevation of the sunis:
(A) 75° (A) 75°
B) 60° B) 60°
©) 30° (C) 30°
(D) 45° X (D) 45°
X
X
— X .
If 16 cotA = 12, then find the value of a m TR 16 cotA = 12 3, 74 s%n A +cosA
sin A + cos A e sin A —cos A
sin A —cosA ld A ST I |
o
A) -7 = A) -7
B) 6 X B) 6
X
©) 7 h €) 7
D) 8 D) 8
If§+%:4 and %"-%:4 then find the | 45. R ~4+Y=4aR X_Y_43 mxym

value of x and y.
(A) 8,6

B) 6,8

(C) -6.8

(D) 8,6

Space for rough work
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In the given figure, /B and /D are right angled, 46. feu ww fom § /B 3R D wHaIv1 &, Afe
ifAD =4cm, BD =3cm and CB = 12cm, then AD=4cm, BD=3cm 3R CB=12cm g, a9
find the value of cot@. cot® &1 HF T DI |
A A
D D
0 0
C B C B
N L
A) 15 A) 15
12 12
®) - ®) -
o 12 o 12
© : ©
5 x 5
il © il
® 1 S ®) 1
-
©
The roots of a qurdratic equation x> —4 px +4 = 47.  fgord SH@RU X2 —4px+4p - q?=0F A
p’—q¢*=0are: ? T
X
X
(A) 2p+q,2p—q X (A) 2p+q,2p—q

B) p+t2q.p-2¢
©) 2p+q.2p+q
D) 2p-q.2p—q

B) p+t2q.p-2¢
©) 2p+q.2p+q
D) 2p-q.2p—q

Space for rough work
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In the given figure the value of x for which
DE||BCis:

A
X+3 X
D E
3x+1 3x+4

B C
(A) 3
B) 2
© 4
D) 1

Aruna has only Rs.1 and Rs. 2 coins with her.
If the total number of coins that she has is 50
and the amount of money with her is Rs 75,
then the number of Rs.1 and Rs.2 coins are
respectively :

(A) 35and 15

(B) 35and 20

(C) 15and 35

(D) 25and?25

If in AABC and APQR, we have

AB BC CA
—— =——=—then:
QR PR PQ

(A) APQR~ACAB
(B) APQR~AABC
(C) ACBA~APQR
(D) ABCA~APQR

*xxxxx B10151023 *#***

48.

49.

50.

fau 7w == 7 Ife DE || BC 8 a1 x &1 949

A
x+3 X
D, E
3x+1¢ 3x+4

B C
A) 3
B) 2
©) 4
D) 1

THUN & U b ®Y MR A w9 & R 7,
I IFS U [ Ryapi @1 G 50 © ol
IqB U f/ 75 TR € A Th wY Tl &
U & Ryad B 2—

(A) 3538R 15
(B) 35 3R 20
(C) 15 3R 35
(D) 25 3iR 25

af AABC 3R APQR, #
AB BC CA
= = %\ qJ9—

QR PR PQ

(A) APQR~ACAB

(B) APQR~AABC

(C) ACBA~APQR

(D) ABCA~APQR

Space for rough work
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Which of the following statement/s is/are

True(T) or False(F) ?

(i) Ifoand P are zeroes of x>+ 5x + 8 then
the value of (a+f3)is 5.

(ii) Zerosof P (x)=x>-2x-3 are-3 and 1.

(iii) If P (x)=2x>-3x+5,thenp(-1)is

equal to 10.
Code:

(@) (i) (i)
A T T F
B F F T
O T F T
Oy F T F

Which of the following statement/s is/are
True(T) or False(F) ?

(i 7x11x13x15+15isawhole number.
(i) The sum of a rational and an irrational

number is always an irrational number.

(iii) 2.35 isanirrational number.

Code:

(@) (i) (iii)
A T T F
B T T T
O F F T
Oy F T F

*xxxxx B10151023 *#***

S1.

52.

QU U -8/ FUAl # 9 Ifud fdwey

qgTTg—

(i) IR 3R P, x*+5x+8F AP 7, 79
(o +B) H A 5 BRI |

(i) P(x)=x2-2x-3 3 P -3 3R 17|

(iii) I P (x)=2x>—3x+5,d9 p(—1) BT A4
103

Code:

() (i) (i)
A T T F
B F F T
O T F T
)y F T F

U U g8 HHEl § 9 Sfud fawey
REEIIEI

(i) 7x11x13x15+15Th qof & B |
(i) TRTT 3R URTT AR &1 ANTHA

THIM URAT H&T Bl 2 |
(i) 235 TP Ui W= B
Code :

(i) (i) (iii)

AT T F
B T T T
(O)F F T
M F T F
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Which of the following statement/s is/are 53. QU U W wuEl W 9 3fud fade

True(T) or False(F) ? EAT+TI—

(i) Sumofa+tb,a-b,a-3b to 22 (i) a+b,ab,a3b 227 gl a&
terms is 22a—440b. B AMHA 22a-440b T |

(i) The nextterm of A.P (i) FAFR SO 12,427,48.75 oo
12,27 NJ48T5 vveees is 108 . BT STAT U [0 B |

(iii) If : ; : ; : are in A.P. then (i) afe : , : , : FATR 207 H 2

X+2 x+3 x+5 X+2 x+3 x+5

x=2. ar x =2 |

Code: Code:
() (i) (iii) () (i) (iii)

A F F T A F F T

®F T T ®F T T

©T F T ©T F T

T T F T T F

Match Column — I with Column — IT and 54. fu v diaw-I 3R dfed—I1 &1 Sfad e

select the correct answer using the codes given

below.

Column - 1T
P. The area oftriangle 1. 4

Column -1

whose vertices are
(1,-1),(-4.,6) and
(-3,-5)is:

Q. The distance 2. 24

between the points

(cos@, sinB)and

(sin®,—cos6):

*xxxxx B10151023 *#***

PN UG fdbed gy IR SIfoTu—

Column-1I Column - IT

P. B &1 &, 1. 4
ISKEZRIL
(1,-1), (—4,6) 3R
(-3,-5) 8-

Q. 353t (cos0,
sinf) 3R
(sinB,—cosB) @
qeg X B

2.24

Space for rough work
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R. The distance
between P (a,7)
and Q(1,3)is5
the value ofais:

Code:

P

A) 2

® 3

©) 3

D) 2

»—ﬂl\)r—‘wm
w»—[\)»—.w

Match Column — I with Column — II and

select the correct answer using the codes given

below.
Column -1
P. Ifsing = % the

3cos0— 4cos’0="
Q.IfA, B are acute
angles and

sin A= cosB then

3
the value of tan Z

(A+B)=?
R.If sinO = cosecO,

when 0 is acute

0
angle thentanz is:

Column - 11

1.0

2.1

3. -1

*xxxxx B10151023 *#***

5S.

3.2

R. 35311 P (a,7)
IR Q(1,3) &
EICACUINECAF]
8l a &1 A BNT—
Code:

P Q R
A2 3 1
B 3 1 2
© 3 2 1
®y2 1 3

fau U difaa-1 3R dram-—Il &1 Sfaa =

IR IUYH faPped Fap) IR AfT—

Column -1
P. If¢ sing = 1
2

d9 3cosO—
4cos’ ="

Q.afc AR B
RAPIV B, 3R
sin A=cosB g
tan%(AJrB)EFr
A BRT—

Column - 11

1. 0

2.1

R.3fQ sinO =cosecO 3. —1

Bl, 58l 0 =gAPIuT

7 Fﬁtan% BT A BIT—

Space for rough work
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Code: Code:
P Q R P Q R
A2 3 1 A2 3 1
@3 1 2 @3 1 2
<1 2 3 <1 2 3
1 3 2 1 3 2
56. Match Column — I with Column — II and 56. feu U BfaH-I IR dfew-I1 @1 3@ e
select the correct answer using the codes given PR YR fdhed by ITR SISU—
below.
Column-1I Column - 1T Column-1I Column - IT
P. Fromthe figure, 1. 60° P. 7 9, =194 1. 60°
the angle of DI O T—
elevation0is: x
X
X
B - B
N
o
5043 0 5043
oy
o
4 = 4
C 50 A X Cc 50 A
X
p
Q. Ifthe height of 2. 30° Q.3 <R o 2. 30°
the tower = shadow A = IR DI
of the tower then BIRIASERASIRE]
angle of elevation s : BV BRT—
R.Iflength of shadow 3. 45° R.3fe B o1 3.45°
/3 times of height g SR B
of tower then NER IRl
angle of elevation s : I BIVT BETI—

Space for rough work
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57.

MATRIX Class-X
NATRIX P ClassX|
Code : Code :
P O R P O R
@A 2 3 1 A 2 3 1
@1 2 3 B 1 2 3
© 3 1 2 © 3 1 2
™1 3 2 ™1 3 2

Paragraph for Questions 57 & 58

Kavita is a student of class 10™, she has to make

aproject on 'Introduction to trigonometry'. She
decided to make a dog's house which is
triangular in shape. She used cardboard to make
the dog's house. Considering the front side of
dog's house as right angled triangle PQR right
angled atR.

Based on the above information answer the

following question.

If ZPQR = @, then cosQ isequal to

4
A) 5

El
®
o) 2
© 3

13
D) 15

*xxxxx B10151023 *#***

57.

Paragraph for Questions 57 & 58
Hga wer 10 B faenedi g, g1 oy
B IRTI TR Gotde 99 DI e, 397 s9
grotae 1 99M B ot ‘Fd B 3R FYSeR
AT H g b1 v forn, | &1 8- 949
B U IO Tl BT SRS fhaT | S 39 TR
%1 i I8 79 g fBa1 b A @ )%
T Byt PQR @ ey @ e R
HHBIOT BT |
ST TSR & AR 1 &I T Farai
B STATd G—

afe Z/PQR=¢ ¥ 9 cosg = ?

4
A) 5

El
®
o) 2
© 3

13
D) 15
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It ZPQR = @ then value of — 220 s
QR = g, thenvalue o 1+tan2915'

5
A) 15

12
B) 53

o 90
()169

169
D) -

Paragraph for Questions 59 & 60

From Rajiv chowk metro station, if Seema buys
4 tickets to Karol bagh and 6 tickets to Shastri
nagar, then total cost is Rs 92, but if she buys 6
tickets to Karol bagh and 10 tickets to Shastri
nagar, then total cost is Rs 148.

Based on the above information answer the
following questions :

Itsituation can be represented algebrically as :
(A) 3x-5y=Ty

B) 2x+5y="74

(C) 2x—-3y=46

(D) 2x+3y=46

Fare from Rajiv chowk to Shastri nagar :
A) 10
B 12
(©) 14
(D) 16

*xxxxx B10151023 *#***

tan O

1+tan’ 0 A B

IR /PQR=g %, T9

A >
A) 15

12
B 53

o 90
()169

169
D) -

Paragraph for Questions 59 & 60

I e TGl IH ¥ e A 4 fewd
PRIGENT AT 6 feHhe M TR & forg TG
2 T S {1 92 TUY gHM YA ¥ Afehd If
IE 6 fedhe HRIeant dern 10 feawe T TR
& forg @edh 3 O S0 §A 148 W g™
uSd B |

ST THGR & JFAR g Ry ware @
STaTe SIRTg—

R R BT ot w0 3 e fasam ST Hedl 8—

(A) 3x-5y=Ty

B) 2x+5y=74

(C) 2x—-3y=46

(D) 2x+3y=46

RTSiE AP A AR TR BT fpr—
A) 10

B) 12

(C) 14

(D) 16
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MATRIX

PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 61 to Q : 70). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

61.

62.

63.

Find the next term ?

181, 191, 202, 206, 214, ?
(A) 220

(B) 222

(C) 221

(D) 223

Find the next term ?
DHL, PTX, BFJ, ?
(A) CGK

(B) KOS

(C) NRV

(D) RVZ

A is 13" place from top and B is 18" place
from bottom. When they interchange their
position then A becomes 21% place from top.
What is the new position of B from bottom ?
(A) 27

(B) 26™

(C) 25%

(D) 28%

*xxxxx B10151023 *#***

61.

62.

63.

3T Y& 1A B ?
181, 191, 202, 206, 214, 2
(A) 220

(B) 222

(C) 221

(D) 223

3T Y& 1A B ?
DHL, PTX, BFJ, 2
(A) CGK

(B) KOS

(C) NRV

(D) RVZ

AF HH SR A 1331 a1 B o1 649 A A 18
df 8 | OT9 J 3T W ST I dEAd 8, a1 A
B HH SR ¥ 21 df 81 A1 2| A BB A
Rerfd @ grlY 2

(A) 27%

(B) 26"

(C) 25

(D) 28"
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65.

66.

67.
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In a row of 29 boys, Rohit is 19 place from 64. 20 ASH DI TP Ufdd H, ARA BT WA S RSB
left and Ashok is 19" place from right. How A 19 df qeA1 37ENH BT I Gl OB 191 8, a
many boys are there between them in row ? el Ufdd 9 S QM1 @ 91 fha Ted B ?
(A) 5 (A) 5

B) 7 B) 7

©) 6 ©) 6

D) 8 D) 8

If'x' means ', '+' means '+','—' means 'x' and 65.  IfX 'x' @1 ard ', + BT et '+, P aref X!
'+'means '+, then : IR '+ BT Qe '+, =/, Al

15-2+200+20 x100=7 15-2+200+20x100="7

(A) 190 (A) 190

B) 180 B) 180

(C) 90 (C) 90

(D) —60 (D) —60

Use the correct mathematical symbols in place % 66.  FfRed F¥HIaRT § X' & WM W 9! IR
of 'x'in the following equation : Q g &1 g w1 ?

16 x4 x5x14x6 e 16 x4 x5x14x6

(A) +-=> S (A) +-=>

B) —x+= m B) —x+=

(C) +x=+ : (C) +x=+

(D) ++=- ; (D) ++=-

Two friends Reeta and Kavita talks to each 67. <1 geferdl AT IR B JIg B FHY Th—ga

other face to face in the morning time. If at that
time Kavita's shadow is exactly to the left side
of Reeta, now find that Kavita's face on which
direction ?

(A) South

(B) North

(C) East

(D) West

I 910 PR &I B | AT S0 THT HiAdl B WOTE
dar & v e 7 usdl B, oW ohd W &
Hfaar &1 g fra feem 7 g 2

(A) <fgror
(B) S
(C) @

(D) uf¥=H

Space for rough work
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69.
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Five boys standing in a row and all are facing 68. U IS TP Ufdd # WS g A 9 & I
towards South. Anand is standing STRT0T BT IR B | 3T, M P S T AR 2 |
immediately right of Ramu.Chandan is e, I AR AIEH @ 7L 2 | 91 P S Q!
between Ramu and Sohan. No one standing IR DTS 7TEl | Ufdd & feqer 7ea H§ DI TS
immediately right of Babu. Who is standing =

in exact middle of row ?

(A) Ramu (A) 1

(B) Babu B) a1

(C) Anand (C) @

(D) Sohan (D) |’

Direction (69-70) : In following question Ader : (69-70) A Ry 7w A=fefda g
given below, one question and two 8y, v g7 qur €t sy 1 Ter I1 R 71w 81
statement numbered I and 11 are given. You 319 Avfg fBforg f el 7 g 1= sifps
have to decide whether the data provided g9+ &l 97N a4 P oIy gafed & a1 9811 g1
in the statements are sufficient to answer Ferl Bl y 3k Sfaa v d/

the question or not. Read both the

statements and give an appropriate answer.

Question:- Find the value of 2% x 3v? 69. Ye:- 2% x 3Y B A1 S PIoIg?

(here x and y are natural numbers and x is

greater than y.)

Statement - I : Sum of value of x and y is 8.

Statement - I1 : Product of value of x and y is 12.

(A) The data in statement-I alone is sufficient
to answer the question.

(B) The data in statement-II alone is sufficient
to answer the question.

(C) The data in statement-I and statement-II
together are sufficient to answer the
questions.

(D) The data in neither statement-I nor
statement-II are sufficient to answer the

questions.

*xxxxx B10151023 *#***

W

(T8I x 3R y UTehd O € TAT X,y ¥ 991 ¢ |)

HUA-1 : xR yd AF &1 AT 8 B |

HUF-I1 : X R y & AN BT ToHH 12 2 |

(A) Bad BIF-1 # AT T 3ffdhs U BT IR
< @ oy Taie 2|

B) daa dU=-I1 § ey U 3ffws ued &
IR < & forg gata 7|

(C) Bu=-1 Ten w11 § Ay U ifdws Tdh
AT HAB U BT SR o & oy g
g |

(D) =1 a1 HF—1 AR 1 HF-11 H QY 7Y
3ffre U &1 IR <7 B forg vafa 7|
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70.

MATRIX

OLYMP!AD

Question:- Find the area of rectangle ?

Statement - I : Diagonal of rectangle is 2m

more than the length of rectangle and length of

rectangle is 8m.

Statement - II : Breadth of rectangle is

multiple of 9.

(A) The data in statement-I alone is sufficient
to answer the question.

(B) The data in statement-II alone is sufficient
to answer the question.

(C) The data in statement-I and statement-II
together are sufficient to answer the
questions.

(D) The data in neither statement-I nor
statement-I1 are sufficient to answer the

questions.

*xxxxx B10151023 *#***

70.

U9:- I BT &%l ST BT ?
-1 : IId BT fAHvl, AT B A= I 2
Hex 31fddp © dT IMagd &) o s 8 Wex g

HUH-11 : 3T BT SIS 9 FT OIF B |

(A) Bad BUF-1 # QT T 3ffdhs U BT IR
< @ oIy Taie 2 |

B) daa HF-11 7 QY 7Y 3ffws U= &
IR < & forg gata 7|

(C) Bu=-1 Ton w11 § Ay T ifdws Tdh
A1 AR T &1 SR <1 & oy gafa
g |

(D) =1 a1 HF—1 AR 1 HE-11 5 QY 7Y
3ffhs U BT IR < B oIy i B |

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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